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~ UNIT 3: RATIONAL EXPRES IONS & EQUATIONS - l))(
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2.  Perform the indicated operation and express in simplest form:
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3. Perform the indicated operation and express in simplest form:
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UNIT 4: SYSTEMS OF EQUATIONS & COMPLEX NUMBERS

9. Determine the solution set of the system of equations:
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10. On the set of axes below, s

he following system of equations for x and y. ‘
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11. What is the solution set of the following system of equations: DQ& lr’l'g'r) Qal tladyd
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12. Solve the following system of equations for all values of x and y: _,_E
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13. Write the equation of the parabola whose focus has the coordinates (-4,—4) and whose directrix
has the equation y =6.
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14. The equation of a parabola 16(y +T) = (x +4)* has a directrix represented by y = 5. Determine

the coordinates of the focus of the parabola.
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17. Determine all solutions to the equation x* +13x” +12 =0 and express the solutions in simplest
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